VEadmoToBILTY

MOTOBILT.COM

&

Ty

HEX BOLT GR 8 7/16" FLAT WASHER
7/16" x 1" ZINC FINISH QTY 10
QTY?2 QTY 8

87,

HEX BOLT GR 8 3/8" FLAT WASHER
3/8" x 1" ZINC FINISH QTY 4
QTY 4 QTY 4

&

BUTTON HEAD SOCKET CAP SCREW
#10-24 x 3/4" BLACK OXIDE FINISH
QTY 8

#MB1025-09

QTY 2

#MB1036 - HAMMER BUMPER SKID PLATE
QTY 1
(OPTIONAL)

NYLOCK HEX NUT
7/16" GR 8 ZINC FINISH

NYLOCK HEX NUT
3/8" GR 8 ZINC FINISH

MOUNTING BRACKETS

7/16" FLAG NUT
QTY 2

HEX BOLT GR 8 3/8" FLAT WASHER
3/8" x 1" ZINC FINISH QTY 2

Sy

HEX BOLT GR 8 7/16" FLAT WASHER NYLOCK HEX NUT
7/16" x 1" ZINC FINISH QrY 2 7/16" GR 8 ZINC FINISH
QTY 2 QTY 2

NYLOCK HEX NUT
3/8" GR 8 ZINC FINISH
QrY 2 QTY 2

[

ONLY INCLUDED WITH #MB1036 OPTION

#MB1025 - STINGER
QTY 1
(OPTIONAL)

#MB2060

JK VACUUM RELOCATION
QTY 1

(OPTIONAL)

QTY 1

#MB1025 - HAMMER BUMPER

BRACKET

Dwg/Part No:

MB1025 - Customer

Description:

Jeep JK Front Bumper

Mat'l:

Sheet No: 1 of 1\
Rev No: 0

THIS DOCUMENT & THE INFORMATION CONTAINED WITHIN IS THE SOLE PROPERTY OF MOTOBILT INC. THIS DOCUMENT SHALL NOT BE COPIED, STORED, DUPLICATED, REVERSE ENGINEERED or OTHERWISE WITHOUT THE EXPRESS WRITTEN CONSTENT OF MOTOBILT INC.
COPYRIGHT © MOTOBILT INC. COPYRIGHTED MATERIAL IS PROTECTED BY INTERNATIONAL COPYRIGHT LAWS. "MOTOBILT" IS A REGISTERED TRADE NAME.



